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5cm 50c¢m 100cm
QLR — 0.10 — PA-1000
3/4(&)HEN Qx> IWD LT — 0.07 — PA-1000
QBRI — 0.08 — PA-1000
Oy L2l — 0.07 — PA-1000
9/1(K)EY Qv T I LT — 0.05 — PA-1000
IBERIGAR — 0.06 — PA-1000
2/9 (F842)



hARAFFHOBUEICE TOMAAREAERLR

ArtEh - 481792

SN2
HER X A R (TP AR W %
5cm 50c¢m 100cm
Oy L2l — 0.06 — PA-1000
2/4(R) I Q%I LT — 0.06 — PA-1000
QIR ERI5FT — 0.07 — PA-1000
QLR — 0.06 — PA-1000
8/6(R)EN Qx> T IWD LT — 0.07 — PA-1000
BRI — 0.06 — PA-1000
TRRI1ERE
HER- R A RER (AR — 2 R AT ti%
5cm 50c¢m 100cm
OEHZH L — 0.06 — PA-1000
2/50K)BEN Qv T I LT — 0.06 — PA-1000
IRERIHAN — 0.07 — PA-1000
DB — 0.06 — PA-1000
8/2(&)HEN Qx> IWDLT — 0.05 — PA-1000
BRI — 0.05 — PA-1000
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5cm 50c¢m 100cm
Oy L2l — 0.08 — PA-1000
2/5(K)EY Q%I LT — 0.07 — PA-1000
QIR ERI5FT — 0.06 — PA-1000
DILGH — 0.08 — PA-1000
8/3(&)EN Qx> T IWD LT — 0.09 — PA-1000
BRI — 0.11 — PA-1000
RARFFHOEVIGIZE THMSHRERIERER
ATTEHE : $R1792
FRE295E
EE X 154 5 Lo AL W12 P o I .
5cm 50cm 100¢m
Q1= LN — 0.08 — PA-1000
2/70K) BN Qv T IWTD LT — 0.07 — PA-1000
BRI — 0.07 — PA-1000
Q= LW — 0.08 — PA-1000
8/3(R)EEh Qv T I LT — 0.07 — PA-1000
IRER IR — 0.07 — PA-1000
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5cm 50c¢m 100cm
Oy L2l — 0.11 — PA-1000
2/2(R)EIL Q%I LT — 0.09 — PA-1000
QIR ERI5FT — 0.09 — PA-1000
QLR — 0.08 — PA-1000
8/4(RK)EN Qx> T IWD LT — 0.09 — PA-1000
BRI — 0.08 — PA-1000
TRR2TERE
HER- R A RER (AR — 2 R AT ti%
5cm 50c¢m 100cm
Q1= LW — 0.12 — PA-1000
2/30K)BEN Qv T I LT — 0.12 — PA-1000
IRERIHAN — 0.09 — PA-1000
DB — 0.11 — PA-1000
8/71(&)HEN Qx> IWDLT — 0.12 — PA-1000
BRI — 0.08 — PA-1000
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5cm 50c¢m 100cm
Oy L2l — 0.13 — PA-1000
2/4(K) BN Q%I LT — 0.11 — PA-1000
QIR ERI5FT — 0.10 — PA-1000
QLR — 0.13 — PA-1000
11/6 (R) BN Qx> T IWD LT — 0.10 — PA-1000
BRI — 0.09 — PA-1000
OEHZH L — 0.11 — PA-1000
8/5(K)BEN Qv T I LT — 0.12 — PA-1000
IBERIGAR — 0.09 — PA-1000
Q1= LN — 0.14 — PA-1000
5/70K) BN Qx> T IWDLT — 0.11 — PA-1000
BRI — 0.10 — PA-1000
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O3 L2TW — 0.13 — PA-1000
3/11(K) Bh Qv T IO LT — 0.12 — PA-1000
ORISR — 0.11 — PA-1000
O3 L2TW — 0.13 — PA-1000
2/21(&) Bh Qv T LT — 0.11 — PA-1000
BRI — 0.12 — PA-1000
) Q= LW — 0.16 — PA-1000
FRAE QTCHU TV LT — 0.12 — PA-1000
1.715(K) £Y
Q)BT — 0.09 — PA-1000
Q= LW — 0.17 — PA-1000
12/6(%) [Fh Qv T IWTD LT — 0.14 — PA-1000
DIBEXIH AT — 0.15 — PA-1000
O3 12TW — 0.13 — PA-1000
11.712(K) £Y Qv T IWTC LT — 0.15 — PA-1000
DIBEXIH AT — 0.14 — PA-1000
O3 12TW — 0.16 — PA-1000
10/10(K) BEh Qv T IWTC LT — 0.11 — PA-1000
DIBEXIH AT — 0.11 — PA-1000
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O3 L2TW — 0.15 — PA-1000
9./12(K) Bh Qv T IWT LT — 0.12 — PA-1000
QIR ERIZAT — 0.13 — PA-1000
O3 L2TW — 0.16 — PA-1000
QCHU TV LT — 0.12 — PA-1000
819(R) Wh QIR IBAT — 0.16 — PA-1000
AIS>aTF — 010 — PA-1000 BEREHE (RPEETFIF D AT BEIEH B B 55 FF)
BHET — 016 — PA-1000 ”
Q= LW — 0.18 — PA-1000
7/6(x) BEh Qv T IWTC LT — 0.22 — PA-1000
Q)BT — 0.15 — PA-1000
O3 12TW — 0.17 — PA-1000
6./7(&) €Y Qv T IWTD LT — 0.13 — PA-1000
DIBEXIH AT — 0.09 — PA-1000
O3 12TW — 0.13 — PA-1000
5/23(K) Bh Qv T IWTC LT — 0.13 — PA-1000
DIBEXIH AT — 0.09 — PA-1000
O3 12TW — 0.15 — PA-1000
422(R) Bh Q¥ T IO LT — 0.11 — PA-1000
(DIBEXIG AT — 0.08 — PA-1000
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3/711(8H) Bh | BuhdLE(FRAMMEE) — 0.14 — PA-1000
2/7130K) Bn | BhdLE(F AMMEE) — 0.19 — PA-1000
1/2\?5(2}%5)&5%% B oL 2R (4 R R ESE) — 0.17 — PA-1000
12710(H) Bh| SHihdihER (4 RAMEHE) — 0. 21 — PA-1000
11.713(K) ZY| ghtthdulER (4 AREHEE) — 0. 20 — PA-1000
10790k £Y | ButhdLhE (F AMHE) — 0. 20 — PA-1000
9.712(K) BN | Bt LE(F RAMHE) — 0. 21 — PA-1000
8/10(%£) Bhn | Bt LEN(FRAMHE) — 0. 21 — PA-1000
7710(K) BEh | BhdOE(F AMEE) — 0. 20 — PA-1000
6.714(K) Bh | BhdLE(FRMEE) — 0. 22 — PA-1000
5/14(8) Bh | BhdOhE(FRMEE) — 0. 22 — PA-1000
4,724 (K) BN | ShdulER (4 AREHE) — 0. 23 — PA-1000
319(A) Bh | ithdulER (4 AREHL) — 0. 24 — PA-1000
2713(R) &Y it b ER (2 R — 0. 24 0.22 PA-1000
1/;@(&;‘)@%” Bt oL ER (5 RS — 0. 26 0.24 PA-1000
CNER (A R NEE%E _ -
1220040 Eh %ﬁfmq:,&nl!(?:'\hnﬁaz) 0. 24 0. 23 PA-1000
ST IO LT (HE) — 0. 24 — PA-1000
1M1170K) B | SBthdinER (4 X&) — 0.18 0.18 PA-1000
10 /foﬁfig)ﬁgu it D ED (X AERER) — 0. 26 — PA-1000
9/9 (7842)



